Obs | _imputation_ | CovParm | Subject Estimate | StdErr | ZValue | ProbZ

1 1 Intercept | STRATCLUS 0.02641  0.04551 0.58 02808
2 1 Intercept  RAHRHIDPM{STRATCLUS) 31585 01749 18.05 =.0001
3 1 Residual 6.9880 01155 60.52 <0001
4 2 Intercept | STRATCLUS 0.02689 0.04577 0.59 02734
5 2 Intercept | RAHHIDPN{STRATCLUS) 31613 01751 18.05 <0001
b 2 Residual 6.9906 01155 60.55 =.0001
7 3 Intercept | STRATCLUS 0.02669 0.04558 0.5 027N
8 3 Intercept = RAHHIDPN{STRATCLUS) 31577 01750 18.04 =.0001
9 3  Residual 6.9674 01155 6052 <0001
10 4 Intercept STRATCLUS 0.02714 0.04553 0.60 02756
1 4 Intercept RAHHIDPN{STRATCLUS) 3.1559 01750 18.03 =<.0001
12 4 Residual 6.9900 01154  60.55 =.0001
13 5 Intercept | STRATCLUS 0.02640 0.04545 0.58 02809
14 5 Intercept  RAHHIDPMISTRATCLUS) 31638 01756 18.02 =.0001
15 5  Residual 6.9910 01155 60.54 <0001
16 6  Intercept | STRATCLUS 0.02477 0.04513 0.55 02916
17 6  Intercept = RAHHIDPMN(STRATCLUS) 31541 01751 18.01  =.0001
18 & Residual 6.9929 01156 60.50 =.0001

‘RROR: Variable PARAMETER, EFFECT, VARIABLE, PARM, or ROWNAME must be in the PARMS= data set.
IDTE: The SAS System stopped processing this step because of errors.
IOTE: PROCEDURE MIANALYZE used (Total process time):

real time 0.00 seconds

cpu time 0.01 seconds






